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MECHANICAL DATA PNP SILICON
Dimensions in mm (inches) TRANSISTOR
T FEATURES
4.95(0.195) |
poLy « SILICON PNP TRANSISTOR
g « HIGH SPEED, LOW SATURATION SWITCH
—
B
o Xg APPLICATIONS:
cwosm w1 SF GENERAL PURPOSE SWITCHING
da W APPLICATIONS
2540100, 4
31
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Underside View
PIN1 - EMITER PIN 2 - BASE PIN 3 - COLLECTOR

ABSOLUTE MAXIMUM RATINGS (T, = 25°C unless otherwise stated)

Veceo Collector — Base Voltage 12v
Veeo Collector — Emitter Voltage 12V
Vego Emitter — Base Voltage 4V
le Collector Current 200mA
Pp Total Device Dissipation @ Tp =25°C 360mw

_ Derate above 25°C 2.06mw/°C
Pp Total Device Dissipation @ T¢ =25°C 12w

' Derate above 25°C ' 6.85mW/°C

Tstg, Ty Operating and Storage Temperature Range -65 to +200°C

NJ Semi-Conductors reserves the right to change test conditions, parameter limits and package dimensions without
notice. Information furnished by NJ Semi-Conductors is believed to be both accurate and reliable at the time of going
to press. However, NJ Semi-Conductors assumes no responsibility for any errors or omissions discovered in its use.

. NJ Semi-Conductors encourages customers to verify that datasheets are current before placing orders.
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ELECTRICAL CHARACTERlSTlCS (Tp = 25°C unless otherwise stated)

Parameter Test Conditions Min. Max. Unit
BVceo(sus) Collector — Base BreakdownVoltage i = 10mA lg=0 12
BVces Collector ~ Emitter Breakdown Voltage| I = 10pA Vge =0 12
BVero Collector — Base Breakdown Voltage |l = 10uA lg=0 12 \
BVego Emitter Base Breakdown Voltage lg =100pA  Ic=0 4
lceO Collector Cut-off Current Vep = 6V Tamp = 125°C 10 uA
Ices Coliector Cut-off Current Vgg = 6V Vge =0 80 A
n
IB Base Current VCE =6V VBE =0 80
Ic =10mA  Ig=1mA 0.15
VeE(sat) Collector — Emitter Saturation Voltage |l = 30mA Ig = 3mA 02 \
lc=100mA Iz = 10mA 0.5
lc = 10mA Ig = TmA 0.78 0.98
VBE(sat) Base — Emitter On Voltage [c = 30mA Ilg = 3mA 0.85 1.2. v
lc=100mA Iz =10mA 1.7
IC = 10mA VCE =03V 30
Ic = 30mA Vee = 0.5V 40 150
hee DC Current Gain Ic = 30mA Veg = 0.5V 17 —
Tamp = -55°C
Ic = ~30mA Vg =-0.5V 25
Ve =10V = 100MHz
fr Current Gain Bandwidth Product CE 400
Ig = 30mA MHz
Veg = 5V le=0
Cob Qutput Capacitance cB E 6
f = 140KHz
pF
. VBE =0.5vV IC =0
Cip Input Capacitance 6
f=140KHz
ton Turn on Time 60
Voo =2V Ic = 30mA ns
IB‘l =- |52=1 5mA
Loff Turn off Time 90

* Pulse Test: t; < 300ps, < 1%.




